

Con. Secondary K-Normal Circulant Bimatrices

Dr.N.Elumalai¹, Mr. R.Manikandan²

¹Associate professor, Dept of Mathematics

²Assistant Professor, Dept of Mathematics

^{1,2} A.V.C. College (Autonomous), Mannampandal, Tamilnadu

Abstract- We consider con. secondary k-normal circulant bimatrices are introduced and discussed an important results

Keywords- Circulant matrix, Circulant bimatrix. Secondary K-normal matrix, bimatrix, Normal bimatrix, Unitary bimatrix`

AMS CLASSIFICATIONS: 15B05, 15A09, 15A15, 15A57

I. INTRODUCTION

Matrices provide a very powerful tool for dealing with linear models. Bimatrices are an advanced tool which can handle over one linear models at a time. Bimatrices will be useful when time bound comparisons are needed in the analysis of the model[3]. Unlike bimatrices can be of several types. The concept of s-symmetric matrices, k-symmetric matrices and of s-k symmetric matrices was introduced in [1], [2] and [3] Some properties of symmetric matrices given in [5],[6] .In this paper, our intention is to define s-symmetric circulant matrices, k-symmetric circulant matrices and s-k symmetric circulant matrices also we discussed some results on symmetric circulant matrices.

II. SOME OF DEFINITIONS AND RESULTS

Bimatrix 2.1 [3]

A bimatrix A_B is defined as the union of two square array of numbers A_1 and A_2 arranged into rows and columns. It is written as follows $A_B = A_1 \cup A_2$ where $A_1 \neq A_2$ with

$$A_1 = \begin{bmatrix} a_{11}^1 & a_{12}^1 & \dots & a_{1n}^1 \\ a_{21}^1 & a_{22}^1 & \dots & a_{2n}^1 \\ \vdots & \vdots & \ddots & \vdots \\ a_{m1}^1 & a_{m2}^1 & \dots & a_{mn}^1 \end{bmatrix}$$

$$A_2 = \begin{bmatrix} a_{11}^2 & a_{12}^2 & \dots & a_{1n}^2 \\ a_{21}^2 & a_{22}^2 & \dots & a_{2n}^2 \\ \vdots & \vdots & \ddots & \vdots \\ a_{m1}^2 & a_{m2}^2 & \dots & a_{mn}^2 \end{bmatrix}$$

\cup the notational convenience (symbol) only.

DEFINITION:1

For any given $c_0, c_1, c_2, \dots, c_{n-1} \in \mathbb{R}^{n \times n}$ the circulant matrix $C = (c_{ij})_{n \times n}$ is defined by $(c_{ij}) = c_{j-1(\text{mod } n)}$

$$\begin{bmatrix} c_0 & c_1 & c_2 & \dots & c_{n-1} \\ c_{n-1} & c_0 & c_1 & \dots & c_{n-2} \\ c_{n-2} & c_{n-1} & c_0 & \dots & c_{n-3} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ c_1 & c_2 & c_3 & \dots & c_0 \end{bmatrix}$$

Definition 2.2[2]

A bimatrix $A_B = A_1 \cup A_2$ is said to be normal bimatrix, if $A_B A_B^* = A_B^* A_B$

III. ON SECONDARY K-NORMAL CIRCULANT BIMATRICES

Definition

A circulant bimatrix $A_B \in \mathbb{C}^{n \times n}$ is said to be s-k normal circulant bimatrix if

$$K_B V_B A_B^* A_B V_B K_B = \overline{K_B V_B A_B A_B^* V_B K_B}$$

Theorem

Let $A_B, B_B \in C^{n \times n}$ are s -k normal circulant bimatrix then $A_B \pm B_B$ is also s -k normal circulant bimatrix

Proof

Let $A_B, B_B \in C^{n \times n}$ are s -k normal circulant bimatrix then if

$$K_B V_B A_B^* A_B V_B K_B = K_B V_B A_B A_B^* V_B K_B$$

$$K_B V_B B_B^* B_B V_B K_B = K_B V_B B_B B_B^* V_B K_B$$

To prove $A_B \pm B_B$ is s -k normal circulant bimatrix

We will show that ,

$$K_B V_B (A_B \pm B_B) (A_B \pm B_B)^* V_B K_B = K_B V_B (A_B \pm B_B)^* (A_B \pm B_B) V_B K_B$$

Now

$$K_B V_B (A_B \pm B_B) (A_B \pm B_B)^* V_B K_B = K_B V_B (A_B \pm B_B) (A_B^* \pm B_B^*) V_B K_B$$

$$= K_B V_B (A_B^* V_B K_B \pm B_B^* V_B K_B) (A_B \pm B_B)$$

$$= K_B V_B A_B A_B^* V_B K_B \pm K_B V_B B_B B_B^* V_B K_B \pm K_B V_B A_B^* A_B V_B K_B \pm K_B V_B B_B^* B_B V_B K_B$$

$$= K_B V_B (A_B^* \pm B_B^*) A_B K_B V_B \pm K_B V_B (A_B \pm B_B)^* (A_B \pm B_B) V_B K_B$$

$$K_B V_B (A_B \pm B_B) (A_B \pm B_B)^* V_B K_B = K_B V_B (A_B \pm B_B)^* (A_B \pm B_B) V_B K_B$$

Theorem

Let $A_B, B_B \in C^{n \times n}$ are s -k normal circulant bimatrices and $A_B B_B = B_B A_B$ then $A_B B_B$ is also s -k normal circulant bimatrix

Proof

Let A_B, B_B are s -k normal circulant bimatrix then

$$K_B V_B A_B^* A_B V_B K_B = K_B V_B A_B A_B^* V_B K_B$$

$$K_B V_B B_B^* B_B V_B K_B = K_B V_B B_B B_B^* V_B K_B$$

To prove $A_B B_B$ is s -k normal circulant bimatrix

We will show that ,

$$K_B V_B (A_B B_B) (A_B B_B)^* V_B K_B = K_B V_B (A_B B_B)^* (A_B B_B) V_B K_B$$

Now

$$K_B V_B (A_B B_B) (A_B B_B)^* V_B K_B = K_B V_B A_B B_B A_B^* B_B^* V_B K_B$$

$$= K_B V_B B_B A_B A_B^* B_B^* V_B K_B$$

$$= K_B V_B B_B A_B A_B^* V_B K_B$$

$$= K_B V_B B_B A_B^* B_B^* A_B V_B K_B$$

$$K_B V_B (A_B B_B) (A_B B_B)^* V_B K_B = K_B V_B (A_B B_B)^* (A_B B_B) V_B K_B$$

$$= K_B V_B A_B^* B_B B_B^* A_B V_B K_B$$

$$= K_B V_B A_B^* B_B^* B_B A_B V_B K_B$$

$$= K_B V_B (A_B B_B) (A_B B_B)^* V_B K_B$$

$$= K_B V_B (A_B B_B)^* (A_B B_B) V_B K_B$$

Theorem

Let $A_B, B_B \in C^{n \times n}$ are s -k normal circulant bimatrices and $A_B B_B = B_B A_B$ then $A_B B_B^*$ is also s -k normal circulant bimatrix

Proof

Let A_B, B_B are s -k normal circulant bimatrix then

$$K_B V_B A_B^* A_B V_B K_B = K_B V_B A_B A_B^* V_B K_B$$

$$K_B V_B B_B^* B_B V_B K_B = K_B V_B B_B B_B^* V_B K_B$$

and given $A_B B_B = B_B A_B$

To prove $A_B B_B^*$ is s -k normal circulant bimatrix

We will show that ,

$$K_B V_B (A_B B_B^*) (A_B B_B^*)^* V_B K_B = K_B V_B (A_B B_B^*)^* (A_B B_B^*) V_B K_B$$

Now

$$K_B V_B (A_B B_B) (A_B B_B)^* V_B K_B = K_B V_B (A_B B_B)^* (A_B B_B) V_B K_B$$

$$K_B V_B A_B B_B B_B^* A_B^* V_B K_B = K_B V_B (B_B A_B)^* (B_B A_B) V_B K_B$$

where $A_B B_B = B_B A_B$

$$K_B V_B A_B B_B B_B^* A_B^* V_B K_B = K_B V_B A_B^* B_B^* B_B A_B V_B K_B$$

$$K_B V_B A_B B_B^* B_B A_B^* V_B K_B = K_B V_B A_B^* B_B^* B_B A_B V_B K_B$$

where $B_B^* B_B = B_B B_B^*$

$$K_B V_B A_B B_B^* (B_B^*)^* A_B^* V_B K_B = K_B V_B A_B^* (B_B^*)^* B_B^* A_B V_B K_B$$

where $(B_B^*)^* = B_B$

$$K_B V_B (A_B B_B^*) (A_B B_B^*)^* V_B K_B = K_B V_B (A_B B_B^*)^* (A_B B_B^*) V_B K_B$$

Theorem

Let $A_B \in C^{n \times n}$ be s -k normal circulant bimatrix then,

1. iA_B is s -k normal circulant bimatrix
2. $-iA_B$ is s -k normal circulant bimatrix

Proof

Let A_B be a s -k normal circulant bimatrix then

$$K_B V_B A_B^* A_B V_B K_B = K_B V_B A_B A_B^* V_B K_B$$

To prove

1. iA_B is s -k normal circulant bimatrix

we will show that ,

$$\begin{aligned}
 K_B V_B(iA_B) (iA_B)^* V_B K_B &= K_B V_B(iA_B)^* (iA_B) V_B K_B \\
 K_B V_B A_B A_B^* V_B K_B &= K_B V_B A_B^* A_B V_B K_B \\
 K_B V_B (-i^2 A_B A_B)^* V_B K_B &= K_B V_B (-i) A_B^* (i A_B) V_B K_B \\
 K_B V_B(iA_B)(-i) A_B^* V_B K_B &= K_B V_B(-i) A_B^* (i A_B) V_B K_B \\
 K_B V_B(iA_B)(\bar{i}) A_B^* V_B K_B &= K_B V_B(\bar{i}) A_B^* (i A_B) V_B K_B
 \end{aligned}$$

where $(i) = \bar{i}$

$$\begin{aligned}
 K_B V_B(iA_B)(\bar{i})^T A_B^* V_B K_B &= \\
 K_B V_B(\bar{i})^T A_B^* (iA_B) V_B K_B &\text{ where } (\bar{i})^T = \bar{i} \\
 K_B V_B(iA_B)(i)^* A_B^* V_B K_B &= K_B V_B i^* A_B^* (iA_B) V_B K_B
 \end{aligned}$$

where $i^* = (\bar{i})^T$

$$\begin{aligned}
 K_B V_B(iA_B)(iA_B)^* V_B K_B &= K_B V_B(iA_B)^* (iA_B) V_B K_B \\
 iA_B \text{ is } s\text{-k normal circulant bimatrix}
 \end{aligned}$$

2. -iA_B is s-k normal circulant bimatrix

we will show that ,

$$\begin{aligned}
 K_B V_B(-iA_B) (-iA_B)^* V_B K_B &= K_B V_B(-iA_B)^* (-iA_B) V_B K_B \\
 K_B V_B A_B A_B^* V_B K_B &= K_B V_B A_B^* A_B V_B K_B \\
 K_B V_B (-i^2 A_B A_B)^* V_B K_B &= K_B V_B (-i^2) A_B^* A_B V_B K_B \\
 K_B V_B(-i) i A_B A_B^* V_B K_B &= K_B V_B i (-i) A_B^* A_B V_B K_B
 \end{aligned}$$

$$\begin{aligned}
 K_B V_B(-iA_B)(\bar{i}) A_B^* V_B K_B &= K_B V_B(\bar{i}) A_B^* (-iA_B) V_B K_B \\
 \text{where } (i) = \bar{i}
 \end{aligned}$$

$$\begin{aligned}
 K_B V_B(-iA_B)(\bar{i})^* A_B^* V_B K_B &= K_B V_B(\bar{i})^* A_B^* (-iA_B) V_B K_B \\
 \text{where } (\bar{i})^T = -i^*
 \end{aligned}$$

$$\begin{aligned}
 K_B V_B(-iA_B)(-iA_B)^* V_B K_B &= K_B V_B (-iA_B)^* (-iA_B) V_B K_B \\
 iA_B \text{ is } s\text{-k normal circulant bimatrix}
 \end{aligned}$$

Theorem

Let $A_B \in C^{m \times n}$ and A_B^T be the moore penrose inverse of A_B then A_B is s-k normal circulant bimatrix iff A_B^T is s-k normal circulant bimatrix

Proof

Let A_B be a s-k normal circulant bimatrix then

$$K_B V_B A_B A_B^* V_B K_B = K_B V_B A_B^* A_B V_B K_B$$

To prove A_B^T is s-k normal circulant bimatrix

We will show that,

$$K_B V_B(A_B^T)(A_B^T)^* V_B K_B = K_B V_B(A_B^T)^* (A_B^T) V_B K_B$$

$V_B K_B$

Now,

$$K_B V_B A_B A_B^* V_B K_B = K_B V_B A_B^* A_B V_B K_B$$

$$(K_B V_B A_B A_B^* V_B K_B)^T = (K_B V_B A_B^* A_B V_B K_B)^T$$

$$\begin{aligned}
 K_B V_B(A_B^T)(A_B^T)^* V_B K_B &= K_B V_B(A_B^T)^* (A_B^T)^T V_B K_B \\
 &= K_B V_B(A_B^T)^* (A_B^T) V_B K_B
 \end{aligned}$$

$$\begin{aligned}
 &= K_B V_B(A_B^T) (A_B^T)^* V_B K_B \\
 K_B V_B(A_B^T)(A_B^T)^* V_B K_B &= K_B V_B(A_B^T)^* (A_B^T) V_B K_B \\
 A_B^T \text{ is } s\text{-k normal circulant bimatrix}
 \end{aligned}$$

Let us assume that A_B^T is s-k normal circulant bimatrix

To prove A_B is s-k normal circulant bimatrix

We will show that,

$$K_B V_B A_B A_B^* V_B K_B = K_B V_B A_B^* A_B V_B K_B$$

Now,

$$\begin{aligned}
 K_B V_B(A_B^T)(A_B^T)^* V_B K_B &= K_B V_B(A_B^T)^* (A_B^T) V_B K_B \\
 (K_B V_B(A_B^T)(A_B^T)^* V_B K_B)^T &= (K_B V_B(A_B^T)^* (A_B^T) V_B K_B)^T
 \end{aligned}$$

$$K_B V_B(A_B^T)(A_B^T)^T V_B K_B = K_B V_B(A_B^T)^T (A_B^T)^* V_B K_B$$

$$K_B V_B A_B^* A_B V_B K_B = K_B V_B A_B A_B^* V_B K_B$$

$$K_B V_B A_B A_B^* V_B K_B = K_B V_B A_B^* A_B V_B K_B$$

REFERENCES

- [1] Ann Lee, Secondary symmetric , Secondary skew symmetric, Secondary orthogonal matrices period math . Hungary 7(1976),63-76
- [2] Hill, R.D, and Waters, S.R: On k-real and k-hermitian matrices; Lin.Alg.Appl.,169,17-29(1992)
- [3] Vasanthakandasamy, W.B,Florentinsamaranache and ilathendral.k,” Application of Bimatrices to some fuzzy and Neutrosophic Models-2005
- [4] Gunasekaran.K, Mohana.N,” k-symmetric Double stochastic , s-symmetric Double stochastic , s-k-symmetric Double stochastic Matrices” International Journal of Engineering Science Invention, Vol 3,Issue 8,(2014)
- [5] Dr.Elumalai, N. and Manikandan,R.”On S-k normal and con S-k normal bimatrices”,International journal of innovative Research and Technology, Volume3,Issue3,2016,pages(s):102-107
- [6] Hazewinkel, Michiel, ed. (2001), "Symmetric matrix", Encyclopedia of Mathematics, Springer, ISBN 978-1-55608-010-4